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01 2L I 56,940 50,370 6,570
O2LH O bl 120,000& 26 x12& 37,440
O22 o H| 75,0003 x26YH x10L 19,500
203 € R =& 9,000 7,335 1,665
01 JI22HYRFAH| 4,200 3,135 1,065
OJI22g9 g FF=&H| 4,200,000 4,200
04 EANSIELRF=XH| 4,800 4,200 600
ORMNSI Y28 400,000 x12& 4,800
eSS (J8XHA) 17,500,000 7,500,000 10,000,000
PSS NE=] 7,500,000 7,500,000 0
Bt 32 7,500,000 7,500,000 0
802 BtEt2 DI E} 7,500,000 7,500,000 0
01 2DEX3Bte =2 5,000,000 5,000,000 0
O=1etat= 5,000,000,000& 5,000,000




HE: HPHEOIAEBY)
¢ EMXE (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
02 Al - EHIEXZSEHEZ 2,500,000 2,500,000 0
THigtE = 2,500,000, 000& 2,500,000
HEHHK= 10,000,000 0 10,000, 000
ISEES(MEAHH M 2) 10,000,000 0 10,000, 000
702 JISEES 10,000,000 0 10,000, 000
(RPIE=RSE-—3= 10,000,000 0 10,000, 000
OMEetEs REg 3 10,000,000, 000& 10,000,000
olgidl 2el28 24,608,123 22,461,064 2,147,059
olgrglr el 24,608,123 22,461,064 2,147,059
olglgl 2el 24,608,123 22,461,064 2,147,059
801 Gl HIbI 24,608,123 22,461,064 2,147,059
01 Etoiigl bl 4,100,000 3,500,000 600,000
OgBrolgl gl 4,100,000,000& 4,100,000
02 THoH - TH =& 0l Hl bl 20,395,273 18,218,851 2,176,422
OTHol - TS H ol 20,395,273,000& 20,395,273
NBUHERE= 112,850 742,213 A 629,363
OUHERE=S 112,850, 000& 112,850




